
������������	�
���
�����������	�����������
�����	����! #"
$&%('*),+.-0/*1324+.576,8*9*9,:&%;/*-,5=<0>@?71�8BAC%
DFE�GIHKJKLIM�NPOFQ@M�R�E�L�S�TVUVWYXBZ=[�\�]�^�_,`4a=XIU&`4b�c7d

e fhg�i�jBkmlonqpri�sotvuwprj,t�xzy{i}|

$.9(%�~h?�'0/*2��&�C+.5=<.��?�+�-0��5V�Y�7?�1�-*?�5Y53?7���B+.24<0�����B531=���&/*-�-0�*13��>�?���+*�
X2 = −I

?7'*)*?7�(24?�5V�
$&�*%���'0+*����?*6&�(/0'*)��C+{+.�

n × n
��?7���{�71=?�5=�

A
�7�

B
���B5=13���;/0-;�C+.-�24��53?����4-��4�;�*?�13��?06(+.-;-*/01

AB
���(?�-��4��24��53?��7��-(�

$*8&%���?7'*)*?7�
A
?7'*)

n×n
��?7�����;�*?71Y5V�.24�C+B53<����B531=����6

B � ?7�(��'�?7'*)�/*24)0+*� n×n
��?7�����B531=����6I+*�{?�24),13?

AB = 0
%B��'0+.�7/*2 �P (-¡6

�(/*'0)�?�-;-0/*1
B = 0

%
$.¢(%�£����7/*�;);¤¥5V+.�C�&<@6��C/*'*)z�C+

A
�7�

B n
��?7�(1=?7�C�&�¦-;�B+*�(13+.5=�4-, @��§¨�I+*'*);���

n × n
�©?ª���C��'*);�7?�5=?ª�3«�¬­?�2�®��=?�13��24�(?�53¯°§­5=?7�C�B5

AB = BA
«��ª�����;�0?�1=53�.24�C+.5=<±�{�.5=13�¥�&/0-�6&+*-,-0/*1

A−1 = B−1A−1B
%

$BAC%�~h &5V+*�3�Y (-²�{?�'@6C�(/0'*)�53?�5V�Y�7¯*24?�'*?ª���=���4'*/*13³²¬­?�2��Y¯´�C�.13/*���=���*'0���B5=13���;�@+.-{�B+.2�+.�{?�24);��- � /0����5=¤4��?7'*�ª�Y��-;��5=?��0¯0���@+B5Y��B�.�;)0+±�; (242����B531=����%
$*:&%�µ��I�P (-��±?7'�+.���0�3�=��?7��/02�),+.�

B
���.5=13�¥�&/.5ª6(+.�{�41=?�+.�

A =

( �m9
�3��9

)

���B5=13���´?7�=?�53���
AB = BA

5=?72 �P?ª�Y¶(2©%
$.·(%�~h &5V+*�3�Y (-��{?7'C6;�(/*'0){�C+

A
-;�B+*�&1V+B53��-; C���7�

E
 ('0)0+*�(/*24)0+*�±13?��@�&�´?7'*)&�Y�7'*���B531=����6.53/B�I�*>(>C�¸�I+*24+*�{?�24)

k
?�'0�7�=��13?

Ak
���71= @�Y���B531=����6&+.-;-*/01

E − A
���;�*?71Y5V�.24�C+B53<C%

$0$;%�µ��I�P (-��±?7'�+.��+.2��.>C>(�����B5=13���²8.9090:&%,�C+.5=�B�.�;)0�.57¹
( :�$
��¢��P:

)

$.º(%�»F?�53�=��¯02�?7'*?7���B+*2�<,�
t
�7� � /*�7�¥53¤���?�'0�7�=� k

�Y�ª�.�{1V+��=�7�*�±/02 �P C-�-;��+.��+.2��.>(>C���{�.5=13�¥�&/*57¹
( �¼5
9½8

)k

$.¾(%�£����7/*�;);¤¥5V�Y (-¼>�?*6��(/*'0)¼�C+´+�-;�B+*�(13+.5=�4-, @�
A
�{�.5=13�¥�&1V+��7��+��0?�24?¸+.�7/*�(/,��13?��C�(�

E
?�'0);�=��'*���ª�

0
����13 C�=���B5=13���;1V+

A2 + A + E = 0
6(+.-;-0/*1

A
�(?��¿�Y�7���('0 (2��.13�4�7%(À;�7�*�±¤�53�= (-�-,�

A2004
�Á5ª%

º09(%�Â�+.53�.13/*�7�� (-��{?7'�+.��+.2��.>(>C���{�.5=13�¥�&/0-�13+*�('ª�Y�B576&�ª��Ã��C+±�I+*��Ã�+*�����;�*?71=�7��5ª%




¢Ä�Å�ª:
·Æ8Ç�79
��¾���¢z�ª:









8È¢Å$
º¿:É·
�ª9Ê�{��¾









�´8²:
ºh¢�A
$²¾²·













�ËAÌ¾Í�7·
AÎ¾Ï�ª·½8*:
¾Ï�ª·¼80:¼¢*·
�7·h80:�¢0·¼A0¾









ºC�*%���'0+*����?*6&�(/0'*)��C+
A
6
B
�ª�

C n × n
�©?ª���{�.5=13�¥�&/0-�6

A 6= 0
6&�B+.2�+.�{�4�05

AB = AC
6�+.-;-*/01

B = C
�

º,8&%���?7'*)*?7�
A
?7'*)

6 × 5
���0�����B5=13���¡%(~½?�24)*?�-´��',+.�7+*-�+.��+.2��.>C>(���.242�¤�53�0�Y/0-�-*�0��¶(2Ð�

§¨+,«´Â}+�+.��?�2��=¯±¢��=/*1�24���(?ª�.13�4�3+.���0�3�Y�7?�¬­¶('0'*¯@6;+*-;-*/*1�+±>C+.2�¬­?�2��Y¯
3 × 3

��+0��+.2��&?�53?�13�±�4�C�*�C��9(%
§­>�«�Â}+�+±>C+.2¡¬­?724�=¯

3 × 3
��+*��+*24�&?�5=?71=�{�4�C�.�C��9C6(+.-;-*/01�+.��?�2��Y¯�¢{�=/*1�2��4�(?ª�.13�4�3+.���0�3�Y�7?�¬­¶('0'*¯C%

§¨®ª«�Â}+�+.��?�2��Y¯�¢�/,�Y�72�/ � 2��4�(?7�*1=���3+.���0�3�Y�7?�¬­¶('0'*¯@6��7�F+*�Ñ &53/*2��Y<�¢�/,�Y�72�/ � �4�F2��4�(?7�*1=���3+.���0�3�Y�7?�¬­¶('0'*¯@6�+.-;-*/01 r(A) ≤ 3
%

§¨�@«�Â}+�+.��?�2��Y¯�8�/,�Y�72�/ � 2��4�(?7�*1=���3+.���0�3�Y�7?�¬­¶('0'*¯@6��7�F+*�Ñ &53/*2��Y<�8�/,�Y�72�/ � �4�F2��4�(?7�*1=���3+.���0�3�Y�7?�¬­¶('0'*¯@6�+.-;-*/01 r(A) ≤ 3
%

Ò0ÓIÔ�Õ�Ö�×.Ø7Ö,Ù�Ú;Õ©Û ÖªÔ�Ü;Ý�Þ�ßªÔPà;Õ4ÔPà(Ù¸áªâCã ä*äCå0æ�ç�è0ä*éhê¨ê¨ê


